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IV Semester B.Com. Degree (CBCSS - 2014 Admn.-Regular)
Examination, May 2016
Core Course Optional
4B09COM (Co-operation) : MANAGEMENT OF CO-OPERATIVES

Time : 3 Hours Max. Marks : 40

PART-A

This part consists of four questions carrying Y2 marks each. Answer all questions
in one word,

1. Name the Headquarter of Kerala State Rubber Marketing Federation.
2. The present Kerala State Co-operative Bank Ltd. was formerly known as

3. Expand NAFED.

4. Name the first Dairy Co-operative in India. (Vaxd = 2)

PART—B

Answer any four guestions in one or two sentences each. Each question carries
one mark each.

5. What is a Joint Farming Society ?

6. State the main objective of Co-operative processing society.
7. Name types of Industrial Co-operatives working in India.

8. What do you know about integrated fishing in Kerala ?

9. What is a primary store ?

10. What is the basic objective of Land Development Bank ? (1x4 = 4)
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PART -C

Answer any six questions. Answer should not exceed one page each. Each guestion
carries three marks each.

11. List the essential features of the crop loan system.

12. Explain reasons why members of agricultural credit societies do not borrow from
the Co-operatives.

13. Briefly explain sources of working capital of a Central Co-operative Bank.
14. State the chief functions of the Kerala State Co-operative Bank.

15. Explain types of Housing Co-operatives in India.

16. Write a short note on problems of dairy Co-operatives.

17. Briefly discuss the structure of Industrial Co-operatives.

18. Distinguish between Primary agricultural credit societies and service Co-operative
societies. (3x6 = 18)

PART-D

Answer any two guestions. Answer should not exceed four pages each. Each guestion
carries eight marks each.

19. What is overdues ? Explain causes of overdues of Co-operative in India.
20. Describe aims, objects and advantages of Co-operative marketing.

21. Discuss objectives and kinds of Industrial Co-operatives in India. (Bx2 =16)




